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Directions: Answer all of the questions below and be sure to show all of your work! You may use the Regents
reference sheet to help you.

1) Shannon has a rectangular prism with a length of 12 centimeters, a width of 6 centimeters, and an unknown height.
She needs to build another rectangular prism with a length of 3 centimeters and the same height as the original prism.
The volume of the two prisms will be the same. Find the width, in centimeters, of the new prism.
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2) Afish tank with a rectangular base has a volume of 3,360 cubic inches. The length and width of the tank are 14
inches and 12 inches, respectively. Find the height, in inches, of the tank.
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3) The volume of a rectangular pool is 51,840 cubic feet. Its length, width, and depth are in the ratio 5:3:2. Find the
number of feet in each of the three dimensions of the pool.
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4) The lateral faces of a regular pyramid are composed of
1) squares 3) congruent right triangles

2) rectangles @ congruent isosceles triangles



5) Which piece of paper can be folded into a pyramid?
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6) The base of a pyramid is a rectangle with a width of 6 cm and a length of 8 cm. Find, in centimeters, the height of
the pyramid if the volume is 288 cm®.
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7) The similarity ratio of two similar solids is 3:5. If the volume of the smaller solid is 108 cubic inches, what is the
volume of the larger solid?
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9) The legs of a right triangle are 6 and 8 inches. The area of a similar triangle is 384 square inches. What is the
length of the hypotenuse of the larger triangle?
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10) If the volume of a sphere is 45007 cubic inches, what is the surface area of the sphere?
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11) A cone has a diameter of 36 inches and a vertical height of 24 inches. What is the lateral area of the cone? Leave
your answer in termsof 7.

I

L=TvrL.
L=TT1%- 20
’TL-'%%DW

i)

§)

4P 8520t
900 =(°
30=¢

12) If the radius of a sphere is doubled, how does the volume of the sphere change?
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13) If the length of a rectangular prism is tripled, the width is doubled, and the height is quadrupled, how does the
volume of the rectangular prism change?
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